-®
Partitions

NSTALLATION INSTRUCTIONS

e

\\\\
5 \

PLASTIC LAMINATE PARTITIONS

h
S

Date Issued 08-18

$ o

\/Z

-

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com



-®
Global
Partitions

Thank you for choosing Global Partitions

This installation guide was designed to cover as many variations of hardware and
mounting styles as possible, while also trying to keep it light and focused.

While all materials and standard mounting selections are present, in order to cover
the numerous choices of hardware, we have presented each material with it’s
default hardware. Therefore, while each type is covered, it will be with it’s most
common mounting style (i.e. continuous brackets on ceiling-hung, piano hinges on
Polymer, etc).

Please read all steps in their entirety before beginning actual install, as some field
conditions and hardware combinations may require alternate installation.

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com



-®
Partitions

Table of Contents
Floor Anchored/Overhead Braced Page
S P 1,2, 3 i et e e e et aeeaaraan 1
(=] S T 0 TN 2
Panel to Pilaster/Wall Two Ear Assembly.........cccceevvieriiieiiieenieecneene, 3
Panel to Pilaster/Wall One Ear Assembly..........cccceuveeiiiiieciiieccieeeee, 4
Pilaster/Wall One Ear Assembly...........coovuviiivieiiiiiieieciee e 5
Pilaster/Panel Alcove ASSEMDBIY..........ccviecuiieiieeiie e 6
Pilaster/Panel Inline AssemblIy........c.cooviieeiiieeeciiee e, 7
Door Hardware Inswing AssembBly..........cooveeviiiivreeeeeeieee e, 8
Door Hardware Outswing Assembly.........cooccvvveeiiiiiiiieeiiiiiieee e, 9
Headrail ASSEMDbBIY.........uviiiiiiieieeee e 10
Urinal Screen ASSEMDBIY......uvveeeeeeeieeeeee e 11
Floor Anchored
SEEP 1,2, 3 et 12
Y= S T 0 TP 13
Panel to Pilaster/Wall Two Ear Assembly..........cocveieeiiieeiiireecieeeenee, 14
Panel to Pilaster/Wall One Ear Assembly..........ccccevvveiiiieeciiieccieeeee, 15
Pilaster/Wall One Ear AsSemDBIY.........cccveeviieeiiieiieecieecreecee e 16
Pilaster/Panel Alcove Assembly..........ccccouveeeiieeeiiieeeiieeccee e, 17
Ceiling Anchored
SEEP 1,2, 3 et st 18
SO 3,4, 5 ettt e 19
Panel to Pilaster/Wall Two Ear Assembly.........ccccoovevveeeeeenineeeeeeeennen, 20
Panel to Pilaster/Wall One Ear Assembly.........ccccoveevieeiieeeiieeccieeereene, 21
Pilaster/Wall One Ear Assembly...........coocuveeeeiiieeiiiieeciee e 22
Pilaster/Panel Alcove Assembly...........cocveeeeeiiiiiiieecieeeeceeceee e 23

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com



-®
Partitions

Table of Contents

Floor Anchored and Ceiling Anchored Page
SEEP 1,2,3 e ceeeeeeeeeeeeeeeeeeeseeeeseeeeeeeeeee et et ne e e e ettt ee e e eeeeae 24
Y (=] S T 0 TSRS 25
Panel to Pilaster/Wall Two Ear Assembly.........cccceevveeniienieeneeecieeene, 26
Panel to Pilaster/Wall One Ear Assembly.........cccocovveiiiiiieciiieceiieeeee, 27
Pilaster/Wall One Ear Assembly..........ccovvueiiiiieieiiiiecceee e 28
Pilaster/Panel Alcove ASSEMDBIY..........ccviecuiieiiieiie e 29
Product Information

Care and Maintenance of Toilet Partitions..........ccccceevveriienieenieennne 30

The Components for this project have been custom fabricated. They are guranteed
with respect to manufacture and workmanship and were inspected at the factory.

Before beginning work, the units should be inspected. If damage occurred in
transit, report immedicately to the freight company or other agencies that may
have caused the damage.

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com



-®
Partitions Floor Anchored/Overhead Braced

STEP 1 FIGURE 1

LAYOUT -

FLOOR ANCHORED/OVERHEAD BRACED
NOTE:FLOOR MUST BE CONCRETE

A. Review the layout drawings and package lists that
have accompanied this job.

B. Before proceeding,confirm that backing of walls and floor is
adequate to support secure mounting of the toilet
compartment units.

C. Establish and mark pilaster center line from back wall.

D. Establish and mark panel center lines for wall brackets.

E. Establish pilaster floor fastener locations from side wall
according to shop drawings. (Note: floor fasteners are
located 3/4" from edge of pilaster).

F. Mark wall bracket holes using brackets as templates.

STEP 2 FIGURE 2
WALL BRACKETS AND FLOOR ANCHORS ¢

PAMEL CENTER LINE
A. Drill holes for wall brackets and floor anchors mq’_

of appropriate size for particular fastening devices

supplied. Typically, 1/4" bit for walls, 1/4" bit for WALL PILASTER
compartment thru-bolts, and 3/16" bit for floors. - CENTERUNE |
(Note: as site conditions and hardware combinations / -

vary, an assortment of bit sizes is recommended).

B. Insert anchoring devices in walls and secure
wall brackets.

C. Attach the shoes to the concrete floor using the
1/4" concrete screws. (Note: the hole in the side +
Lo

of the shoe should be placed on the inside of the
compartment).

—/
i | L SHOE
D. Adjust the location of the shoes acording to the door o " —/—ﬁﬁ ' - — i
FILASTER

opening size, and secure shoes to the floor. SENTER I

STEP 3 FIGURE 3
POSITION PANEL

A. Place panel on a support, 12" above
the floor. o

B. Set it into wall brackets, but do not fasten
panel at this time.

12" SUPFORT

— =

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com
Page 1



-®
Partitions Floor Anchored/Overhead Braced

STEP 4 REAR A FIGURE 4
PILASTER PREPARATION \ E/\K
U-BRACKETS | FRONT
A Align U-brackets in position on rear of A;,r”_REQ-FEgF . |
pilasters. Refer to layout drawings and -
make sure brackets are in alignment with
wall brackets.
B. Fasten U-brackets to pilaster with sheet
metal screws.
C. Pilasters at wall will not have U-brackets, but -
should be prepared for wall and floor fastening | ’
as required by compartment layout.
o
STEP 5 FIGURE §
INSTALL PILASTERS
#4 SATIN FINISHED

STAINLESS STEEL SHOE
SHOE SCREW

A. Insert the leveling bolt into the threaded insert at the bottom
of the pilaster.

B. Insert the pilaster into the shoe. ~— THREADED INSERT

7
: o : @ L— LEVELING BOLT
C. Level the top of all pilasters by adjusting the leveling bolt to f
desired position. i | ~— CONCRETE SCREW
| A
Note: To determine how far to insert the leveling bolt, find the == — =]
highest point on the floor, and fully insert the bolt on the . s "
pilaster that will be mounted in that location. Adjust all other = FLQOR : o

leveling bolts accordingly.

FLOOR MQUNTING DETAIL

STEP 6 FIGURE 6

SECURING PILASTERS/PANELS

A. Level the panel and adjust the gaps at either end.
B. Secure the panel to the wall and pilaster using through-bolts.
C. Remove panel support device.

D. Flumb each pilaster and secure with headrail (see page 10
for headrail detail).

E. Secure the pilaster to the shoe using shoe screws.

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com
Page 2



-®
Partitions

Floor Anchored/Overhead Braced

FLOOR ANCHORED/OVERHEAD BRACED Panel Hardware Kit (P/N 8515020) Includes:
PANEL TO PILASTER/MWALL CHROME PLATED ZAMAC
TWO EAR ASSEMBLY Panel Hardware Kit (P/N 8265021) Includes:
STAINLESS STEEL
Pilasters must be both plumb and level. To assist in e — DESCRIPTION pr—
leveling, headrail may be lightly positioned across -
adjacent pilasters(do not fasten at this time) 1 Two Ear Bracket @
Refer to steps 4 & 6.
A. Fasten panel to 2-ear bracket at wall with 2 m "U" Bracket @
through bolts.
3 éEEl_' Vandal Resistant Step Bolts 1" Long )]
B. Plumb pilaster and fasten pilaster to panel
using through bolts or sheet metal screws 4 @ Vandal Resistant Barrel Nut @
to "U" brackets.
6 1 5 I Vandal Resistant 2 1/2" SM.S 4
6 4 ’
o 5"(APPROX )
\%?5 Plastic Shields 4
3w O
7 Vandal Resistant 5/8" S.M.S 4)
DiMENSION |
TO SUIT
INSTALLATION

=,

ok |

TO SUIT
INSTALLATION

FIGURE A
— — DIMENSION
'/ 6 1 \‘ I-!r\IOS'?AJL‘-[AT\ON
e
\ o 5\3T
N
S{APPROX )

CIMENSION
TO SUIT
INSTALLATION

12

\A'EF.

DIMENSION -~

5'(APPROX.) —

NOTE:
Use Only TwoTheft resistant 5/8" SMS
To Diagonally Fasten U-bracket To Pilaster.

FIGURE B

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com

Page 3



-®
Partitions

Floor Anchored/Overhead Braced

FLOORANCHORED/OVERHEAD BRACED

PANEL TO PILASTER/MWWALL Panel Haraware Kit (P/N 8515010) Includes:
ONE EAR ASSEMBLY CHROME PLATED ZAMAC
Panel Hardware Kit (P/N 8265011) Includes:
STAINLESS STEEL
Pilasters must be both plumb and level. To assist in
leveling, headrail may be lightly positioned across RATT 1B DESCRIPTION QY
adjacent pilasters{do not fasten at this time)
Refer o steps 4 & 6. 1 One Ear Bracket 2)
A. Fasten panel to 1-ear bracket at wall with 2 m U= Bracket @
through bolts.
3 633_- Vandal Resistant Step Bolts 1" Long “)
B. Plumb pilaster and fasten pilaster to panel
using through bolts or sheet metal screws 4 @}E Vandal Resistant Barrel Nut )
to "U" brackets.
5 o — Vandal Resistant 2 1/2" S.M.S )
6 —] Plastic Shields )
5
6 { ’.4 SYAPPROX.) 7 [ Vandal Resistant 5/8" 5.M.8 12)
5
3 9N
DivENSIoN ]
TOSUIT
INSTALLATION
5A I
J 7\\&1'4
DIMENSION 7 { 2
TO SUT
INSTALLATION
% DIMENSION
e ' TO SUIT
3} ] INSTALLATION
/ B, 1 ’.4 ’/
N
. g \7{
N L e
7/
S'(APPROX) /
CIMEMNSION JI
TO SUIT -
INSTALLATION
AF.F. \ l
\L T FIGURE B \-
' g T ~ \
L/ 4 .
I ™ [} N
SAPPROX )— 3«’ > ;
o NOTE:
Use Only Two Vandal resistant 5/8" SMS
/ To Diagonally Fasten U-bracket To Pilaster.
AR FIGURE B

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com
Page 4



-®
Partitions Floor Anchored/Overhead Braced

FLOOR ANCHORED/OVERHEAD BRACED PilasterMVall Hardware Kit (P/N 8515210) Includes:
PILASTER/WALL CHROME PLATED ZAMAC
ASSEMBLY PilasterAWall Hardware Kit (P/N 8265211) Includes:
PLASTIC LAMINATE STEINLESS STEE:
PART ID. DESCRIPTION Qry
Pilasters must be both plumb and level. To assist in 1 I One Ear Wall Bracket @
leveling, headrail may be lightly positioned across
adjacent pilasters(do not fasten at this time) . ¢ | vandal Resistant Step Bolts 1 1/4" Long @
A. Fasten pilaster to wall bracket using through ]
bolts or sheet metal screws. 3 §= Wendal esisantBaplit 3
B. Establish docr openings by adjusting pilaster 4 | fuwm——  Vandal Resistant 2 1/2" 3.M.5 “@
mounting bar to desired position and tighten nuts.
Refer to step 6. 5 [E== | Plastic Shields @
6 [ Vandal Resistant 5/8" S.M.S (4
T T~
d ~
TER P N
7Y X
SN e ,
5 / ‘ \
5, P |
4 | ;
o AN : /
\ .
: /
\ :
4 /
\ i
g v
\ .
——
SEE SHOP DRAWINGS FOR FIGURE A
PILASTER TC WALL SPAC\NGW 3 —
L e - T,
Wi | N
/ E
; N
/ .
: \
/ \
FIGURE A | l
. :
/ BN \3 " |
\ \@'4 \ 2 :
Lo ANy : /
N : \ :
_ : /
s X :
: Fd
\ 3
/ = _ ~
NOTE:
Replace Vandal Resistant 2 1/2"
With Vandal Resistant 5/8"
/\’ To Fasten Pilaster To Panel.
g FIGURE B

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com
Page 5



-®
Partitions Floor Anchored/Overhead Braced

FLOORANCHORED/ Alcove Hardware Kit (P/N 8517310) Includes:
OVERHEAD BRACED CHROME PLATED ZAMAC
PILASTER/PANEL ALCOVE Alcove Hardware Kit (P/N 8267311) Includes:
ASSEMBLY ONE EAR STAINLESS STEEL
PLASTIC LAMINATE PARTID. DESCRIPTION aTyY
1 I I 1 1/4" One Ear Wall Bracket (2)
Replace #8517310 with #3517320 for two
ear bracket kit. 2 QEEI—- Vandal Resistant Step Bolts1 1/4" Long 2
3 €b Vandal Resistant Barrel Nut 4)
4 fosmsmennee | Vandal Resistant 2 1/2" S.M.S (41)]
5 E=—= |Plastic Shields (10
Vandal Resistant 5/8" S.M.S
e frow— (Balance For Fasting Pilaster /Panel) a4
7 ‘& Alcove Clip (2)
8 I I 1" One Ear Wall Bracket (2)
9 Ew— Vandal Resistant 1" S.M.S (4)
F ,-6 10 @EI_— Vandal Resistant C/P Step Bolts 1" Long (2)
\ 11 | I Bracket Headrail Satin "F" Zamac (&)}
TS
55 i ’.3 % 5
@ﬂ \ 0 6
pLAE N \
N % FOR OVERHEAD BRACED
~ -~ S APPLICATION SEE PAGE 9
\| N, S e
‘ A AN
ATTACH TO
“ \. 7 BILASTER 9 N
SEE SHOP | ‘ 4 Lt 4 \’
DRAWINGS FOR T A
PILASTER TO\[ “ ‘ H ?5 ./ \.
WALL SPACING | i |
Son ] \ BOOR APPLICATION : :
£ ! \ , N
2 4 ‘l l 1 :
& N s \ /
| N : ATTACHTO ,*
DIMENSION % 5
‘ ‘ TO SUIT 1§ 5\"' N ZPANEL 4
INSTALLATION ~ s
ey G
WALL -
S FIGURE A
MTQR DQN\ \L FIGURE &
A g
{7 7
N N
) \” : INSTALLATION -\ WAL

I

7 5.‘:“5

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com
Page 6



-®
Partitions

Floor Anchored/Overhead Braced

FLOOR ANCHORED/
OVERHEAD BRACED
PILASTER/PANEL/PILASTER INLINE

Alternate Alcove Hardware Kit {P/N 8517030) Includes:

ASSEMBLY
PLASTIC LAMINATE

-
N OVE RACE
i s FOR OVERHEAD BRACED
| il 13N SEE #8448100
i t %35, FORAPPLICATION
I I w3 &y PAGE S
1l N
I I i‘a‘
| y 3
| R
| I| \}‘tx
| Iy ~Iw
| |I N
I I k
| I
I i
| I
| i
I I
SEE SHOP ! :l
DRAWINGS mf || SEEPAGEBFOR
PILASTER TO | DOOR APPLICATION
WALL SPACING ,I

CHROME PLATED ZAMAC
PART ID. DESCRIPTION Qry
1 @ Alcove Clips (12)
2 ﬂfl—- Vandal Reslstant Step Bolis 1" Long {(12)
3 = Vandal Reststant Barrel Nut (12)
4 [ VandalReslstant 58" 5.M.S (24)

-

—

~ ~
o o N
/ e QE o\
| 1
Lo hl /
\2 265/ ) )
N ,
\_ _/
FIGURE A
RECOMMENDED
/ 4 \
[ /;2\
i |
X W
A /
\_ _/
N v
OPTIONAL

# Two Vandal Resistant 5/8"SMS
May be Used (But Not Recommended)

To Fasten brackets To Panel. Offset brackets

for screw clearance.

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com

Page 7



-®
Partitions

Floor Anchored/Overhead Braced

DOOR HARDWARE
ASSEMBLY
PLASTIC LAMINATE

A. Insert a top nylon cam into the upper and lower door hinge insert
closure bracket, as illustrated so that cam base is flush with inner
bracket surface.See figure A

B. Insert each door hinge insert (with top cam in place)into the upper
and lower openings in the door, anchoring with #10 % 1" screw.
See figure A

C. Insert bottom nylon cam into the pilaster portion of the hinge
bracket assembly. See figure B. The cam should be set to same
desired position on upper and lower hinge assemblies. See figure C.

D. Connect top and bottom hinge pilaster bracket to door & hinge.
Insert with hinge pin through the top and bottom of the door
until the pin is flush with the door edge.

E. With hinges in place, position door so that the upper portion of hinge
bracket is on pilaster at desired height.

F. Secure top & bottom hinge pilaster bracket to pilaster with two
through bolts.

G. Install balance of hardware per this diagram.

Locate mid height 2
of door T 10

A

Install door
stop and keeper
at height to
accept slide latch

Inswing Door Hardware Kit (P/N 8512003) Includes:

CHROME PLATED ZAMAC

Inswing Door Hardware Kit (PN 8262003) Includes:

STAINLESS STEEL

PART ID. DESCRIPTION aTy
1 @:m Hinge Pilaster Bracket (2)
2 E Door hinge insert (2)
3 ﬂ Hinge Pintle Nylon @
4 4 Hinge Gam Nylon 2)
5 T Inswing Latch Slide Keeper @)
6 | == | Hinge Pin (2)
7 ?‘ Bumper And Coathook [4))]
8 Jmmm- | Vandal Resistant SM 1" Flat Head (2)
9 CEEI—- Vandal Resistant Step Bolts 1" long (2)
10 d: Vandal Resistant 5/8" Barrel Nut (7)
11 @ | Vandal Resistant SM.S.5/8" (2)
12 E: Slide Latch 0
13 SEEI- Vandal Resistant Step Bolts 1 1/4" long (5)

<> 4
l
N
8
2
FIGURE A FIGURE B
T 30" OUTWARD
ot 15" OUTWARD
0° CLOSED
FIGURE C
B

'L‘*TER

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com

Page 8



ASi

Global

Partitions

Floor Anchored/Overhead Braced

DOOR HARDWARE - OUTSWING

ASSEMBLY

PLASTIC LAMINATE

A. Insert a top nylon cam into the upper and lower door hinge insert
closure bracket, as illustrated so that cam base is flush with inner
bracket surface. See figure A

B. Insert each door hinge insert (with top cam in place)into the upper
and lower openings in the door, anchoring with #10 x 1" screw.

See figure A

C. Insert bottom nylon cam into the pilaster portion of the hinge
bracket assembly. See figure B. The cam should be set to same
desired position on upper and lower hinge assemblies. See figure C.

D. Connect top and bottom hinge pilaster bracket to door & hinge.
Insert with hinge pin through the top and bottom of the door
until the pin is flush with the door edge.

E. With hinges in place, position door so that the upper portion of hinge
bracket is on pilaster at desired height.

F. Secure top & bottom hinge pilaster bracket to pilaster with two

through bolts.

G. Install balance of hardware per this diagram.

DRILL 1/4" DIA. HOLE

DRILL 1/4" DIA. HOLE

Locate mid height
of door

Cutswing Door Hardware Kit (P/N 8512004) Includes:

CHROME PLATED ZAMAC

PART ID. DESCRIPTION Qry
1 ﬁ:m Hinge Pilaster Bracket (2)
2 3 Door hinge insert (2)
3 ﬂ Hinge Pintle Nylon @
4 _41]_ Hinge Gam Nylon 2)
5 FE Bumper Q)]
6 |4 | PullHande (1)
7 I Qutswing Latch Slide Keeper (1
8 | === | Hinge Pin @
9 T‘ Bumper And Coathook )]
10 e Vandal Resistant SM 1" Flat Head 2)
11 QEE-— Vandal Resistant Step Bolts 1 1/4" long (5)
12 q: Vandal Resistant 5/8" Barrel Nut (7)
13 = | Vandal Resistant S.M.S. 5/8" (4)
14 E} Slide Latch )
15 QE_- VYandal Resistant Step Bolts 1 1/2" long (2)

Coathooks in handicap stalls should

\

be no higher than 48" AF.F.

~

1‘2
s

Install doar
stop and keeper
at height to
accept slide latch

=

FIGURE A

A

@4
1

2

Install slide latch so that slide bar, when
completely engaged, does not rest behind
pilaster |t should also be high enough to
allow "ift-up" emergency access

FIGURE B

30" QUTWARD
15* OUTWARD
0" CLOSED

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com

Page 9



-®
Partitions

Floor Anchored/Overhead Braced

HEADRAIL
ASSEMBLY
PLASTIC LAMINATE

Headrail Hardware Kit (P/N 8448100) Includes:

PART ID.

DESCRIPTION

QTYy

Headrail Satin "F" Zamac Bracket

()

=
d

Headrail Cap Satin Zamac

m

oo Vandal Resistant 2 1/2" S.M.S 2
—_— Plastic Shield (2)
Fome Vandal Resistant 5/8" S.M.S ()

EXPLODED ASSEMBLY

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com

Page 10



-®
Partitions Floor Anchored/Overhead Braced

URINAL SCREEN
ASSEMBLY Urinal Screen Hardware Kit (P/N 8511281) Includes:
PLASTIC LAMINATE CHROME PLATED ZAMAC
Urinal Screen Hardware Kit (P/N 8261281} Includes:
STAINLESS STEEL

A. Before proceeding,confirm that backing of PART ID DESCRIPTION aTy

wall is adequate to support and secure .

mounting of urinal screens.Check dwgs 1 _‘_HL— Two Ear Wall U/S Bracket (2)

for layout.

2 Fr— Vandal Resistant 2 1/2" S M. S (4)

B. Insert anchoring devices in walls and secure

wall brackets with 24" S.M.S. 3 =S Plastic Shields )
C. Place urinal screen on a support, 12" above g sl T g

the floor. - andal Resistant M. (8)
D. Set U/S into wall brackets and fasten

with recommended fasteners.

3
-k
N~
4 a 27 q
L P T
WA - N
/ 3
/ q,
~ \

FIGi RE i ['/ 3 \ 1 4 .\.

FIGURE A

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com
Page 11



-®
Partitions

Floor Anchored

STEP 1
LAYOUT
FLOOR ANCHORED
NOTE: FLOOR MUST BE CONCRETE.

A. Review the layout drawings and package lists that
have accompanied this job.

B. Before proceeding,confirm that backing of walls and floor
is adequate to support secure mounting of the toilet
compartment units.

C. Establish and mark pilaster center line from back wall.

D. Establish and mark panel center lines for wall brackets.

FIGURE 1

STEP 2
WALL BRACKETS AND FLOOR BRACKETS

T/
_— i ) ~ !

E. Establish pilaster floor fastener locations from side wall P /
according to shop drawings. (Note floor fasteners are located ___-___A/A_-____ A VN
roughly 3/4" from edge of pilaster.)

F. Mark wall bracket holes using brackets as templates.

FIGURE 2

A. Drill holes for wall brackets and floor fastenings
of appropriate size for particular fastening devices
supplied. Typically 1/4" bits can be used for walls and
compartment thru-bolts and 3/8" bits for floors.
A variety of bit sizes are recommended as site
conditions and hardware combinations vary.

B. Insert anchoring devices in walls and secure
wall brackets.

C. Install wedge anchor with washer
and nut into concrete floor and tighten.

| WALL PILASTER

CENTER LINE

PILASTER

._i_____b.____

|
|
1
|
|
|

.~ FLOCR /
7~ FASTENER
/’ LOCATIONS

7

STEP 3
POSITION PANEL

A. Place panel on a support, 12" above
the floor.

B. Setit into wall brackets,but do not fasten
panel at this time.

FIGURE 3

—
12" SUPPORT

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com

Page 12



-®
Partitions

Floor Anchored

STEP 4
PILASTER PREPARATION
FLOOR ANCHORED

A. Align "U"-brackets in position on rear of
pilasters.Refer to layout drawings.

B. Fasten "U"-brackets to pilaster with sheet
metal screws.

C. Pilasters at wall do not require U-brackets but
should be prepared for wall and floor fastening
as required by compartment layout.

FIGURE 4

U-BRACKETS
AT REAR OF
PILASTER

STEP 6
INSTALL PILASTERS

A. On each wedge anchor thread place one
3/8" support nut down to approximately 1" up from

floor level and place round washer over each anchor.

B. Slide stainless steel shoe carefully over mounting

end of pilaster and leave approximately 5" above end.

C. Position pilaster on anchors and secure lightly with
flat washers and 3/8" locking nuts.

FIGURE 6

#4 SATIN FINISHED
STAINLESS STEEL SHOE

SEMI-CYLINDRICAL
—_— N N A " PLUG-LOK
L 3/8" DIAMETER
\g{ //_CADMIUM PLATED BOLT!
S =]
——— = LOCKING NUT
ﬁ =T =] [ ~—ROUND WASHER
(AP Ty 5 . L 3/8" THICK SLOTTED
MOUNTING BAR
I1 IT
S N IR 2

"4 ) —WEDGE ANCHOR

T:‘f._ . E i’ .ng

¥ i s .
FRAE R T, W

FLOOR MOUNTING DETAIL

STEP 6
SECURING PILASTERS /PANELS

A. Level each pilaster by adjusting both support nuts
to desired position.

B. Plumb each pilaster and fasten the pilaster to panel
with "U" brackets using through bolts or sheet
metal screws.

C. Establish door openings by setting pilaster mounting
bar to desired position on anchor.

D. Tighten locking nuts on top of pilaster mounting
bar.

E. Slide stainless steel shoe down to floor.
F. Fasten panel to wall brackets using through bolts.

G. Remove panel support device.

FIGURE 6

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com



Global
Partitions

ASi

Floor Anchored

FLOOR ANCHORED Panel Hardware Kit (P/N 8515020) Includes:
PANEL TO PILASTERAVALL CHROME PLATED ZAMAC
TWO EAR ASSEMBLY Panel Hardware Kit (P/N 8265021) Includes:
STAINLESS STEEL
Pilasters must be both plumb and level. To assist in S — DESEHRTIGN —
leveling, headrail may be lightly positioned across -
adjacent pilasters (do not fasten at this time) ’ Two Eat Bracket @
Refer to steps 4 & 6.
A. Fasten panel to 2-ear bracket at wall with 2 m "U" Bracket @
through bolts.
3 é]EE_- Vandal Resistant Step Bolts 1" Long )
B. Plumb pilaster and fasten pilaster to panel
using through bolts or sheet metal screws 4 @ Vandal Resistant Barrel Nut @
to "U" brackets.
8 g 5 Ermm— Vandal Resistant 2 1/2" SM.S 4
6\@4 SUAPPROX.)
5 6 E Plastic Shields 4)
LI
e
J 7 [ Vandal Resistant 5/8" S.M.S )
D\MENS\ON/
TOSUIT
INSTALLATION
GK WA “~
A Nl s
J IR
DIMENSION -/‘ rd 2
TO SUIT 3
INSTALLATION
FIGURE A
o — DIMENSION
TOSUT
,/ 6 \, INSTALLATION
[ 8 »‘;}—/
\ 3 Y T
R g
S APPROX )
» DIMENSION
12 TO SUIT
A.F.F. INETALLATION
\Jv FIGURE B
P ‘/ . "}
b l\
f[re \
i[> .
. M3
S"APPROX) — 5
T L
NOTE:
Use Only TwoTheft resistant 5/8" SMS
| To Diagonally Fasten U-bracket To Pilaster.
P FIGURE B
L6 PesbE B

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com

Page 14



-®
Partitions

Floor Anchored

FLOORANCHOREDPANEL TQ
PILASTER/ANVALL Panel Hardware Kit (P/N 8515010) Includes:
ONE EAR ASSEMBLY CHROME PLATED ZAMAC
Panel Hardware Kit (P/N 8265011) Includes:
Pilasters must be both plumb and level. To assistin STAINLESS STEEL
leveling, headrail may be lightly positioned across PART ID. DESCRIPTION ary
adjacent pilasters(do not fasten at this time)
Refer to steps 4 & 6. 1 One Ear Bracket (2)
A. Fasten panel to 1-ear bracket at wall with 2 m % Bracket @
through bolts.
3 sEEl_' Vandal Resistant Step Bolts 1" Long 4)
B. Plumb pilaster and fasten pilaster to panel
using through bolts or sheet metal screws 4 ﬂﬁ Vandal Resistant Barrel Nut )
to "U" brackets.
5 o — Vandal Resistant 2 1/2" S.M.S 4)
6 | — Plastic Shields @
5
6 1 ’.4 S (APPROX ) T fo Vandal Resistant 5/8" S.M.S (12)
5
3 O
DIMENSION/
TOSUIT

INSTALLATION

N

|

TOSUIT
INSTALLATION

FIGURE A

—

DIMENSION
. TO SUIT
fS INSTALLATION

A\

,.\
. /@
L&
=

5'(APPROX.)

DIMENSION
TOSUIT

INSTALLATION -\

5'(APPROX.)

DIVENSION =

SYAPPROX )J—

/

/

l.

\
FIGL_J_R_EB .
L2 )
e N
|
3 2
R NOTE:

Use Only Two Vandal resistant 5/8" SM3S
To Diagonally Fasten U-bracket To Pilaster.

FIGURE B

900 Clary Connector, Eastanollee, GA 30538

Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com

Page 15



-®
Global
Partitions Floor Anchored

FLOOR ANCHORED Pilasterivall Hardware Kit (P/N 8515210) Includes:
PILASTER/WWALL CHROME PLATED ZAMAC
ASSEMBLY PilasterAvall Hardware Kit (P/N 8265211) Includes:
PLASTIC LAMINATE STAINEESD STEEL
PART ID. DESCRIFTION QTyY
Pilasters must be both plumb and level. To assist in i I One Ear Wall Bracket @
leveling, headrail may be lightly positioned across
adjacent pilasters{do not fasten at this time) ) ¢§-cmmm | vandal Resistant Step Bolts 1 14" Long @
A. Fasten pilaster to wall bracket using through .
bolts or sheet metal screws. 8 & Vandal Resistant Banel Hut @
B. Establish door openings by adjusting pilaster 4 | e | \fandal Resistant21/2"SM.5 “
mounting bar to desired position and tighten nuts.
Refer to step 6. 5 [E== | Plastic Shields @
6 [ Vandal Resistant 5/8" S.M.S (4)
: ~
TER P N
AR A
A NP _
5 / ‘ \
5 1 "3 : |
4 | :
27 AN | !
\ .
; /
\ :
' /
\ :
! 7
\ %
SEE SHOP DRAWINGS FOR FIGURE
PILASTER TO WALL SPACINGﬂ1 £ -
B
L P E
W - S
/ S
3 AN
/ .
: \
/ \
FIGURE A / |
o :
/ i \3' 'l f
LS v |
.o ANy i /
- ) \ :
g o : /
= N .
: Fd
\ :
/ & -
i — -
NOTE:
Replace Vandal Resistant 2 1/2"
With Vandal Resistant 5/8"
/\' To Fasten Pilaster To Panel.
g FIGURE B

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com
Page 16



-®
Global
Partitions Floor Anchored

FLOOR ANCHORED Panel Hardware Kit (P/N 8515010) Includes:
PILASTER/PANEL ALCOVE ASSEMBLY CHROME PLATED ZAMAC
PLASTIC LAMINATE Panel Hardware Kit (P/N 8265011) Includes:
STAINLESS STEEL

PART ID. DESCRIPTION QTy
Note: 1 l I One Ear Bracket 2
Replace P/N#8515010 with P/N#8515020
for two ear locations. 2 m “J" Bracket @
Replace P/N#8265011 with P/IN#2615021 . "

3 g | \andal R CIP Step Bolts 1" L 4
for two ear STAINLESS STEEL locations. SRERESRinTCIRSEp Bals ™ Long ()
Combine with pilaster to wall kit 8515210 4 é}ﬁ Vandal Resistant C/P Barrel Nut 4

5 fr—c— Vandal Resistant 2 1/2" S.M.S (4

6 = Plastic Shields {4

11/4" open bracket 7 o Vandal Resistant 5/8" SM.S 12)

A
L 2 \
™ % : \\ ﬁR
\\
| N &
SEE #8512000 13
l KIT FOR DOOR -
APPLICATION -4
SEE SHOP PAGE 8 > 4
DRA\N\NGS%T £ l
S\L;TETSEF’F/{\EI%G 1" open bracket
FLATSTRIKE —~. Il
& KEEPER \ E
#88263110 | \
66 I\ . .
@5 | ~ 7~
LN ) -~ -~ B\Q a4 5
S
- 3 6""\
H ; )
= FILASTER
Ty 1B T -/ ¢ siE \
w5 ~. |
wALL Y ~NE A ™ !
\ = . /
\ /
Nt 2
S~
FIGURE A

NOTE:

Replace Vandal Resistant 2 1/2" SMS
With Vandal resistant 5/8" SMS

To Fasten Pilaster To Panel.

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com
Page 17



-®
Partitions Ceiling Anchored

STEP 1 FIGURE 1
LAYOUT
CEILING HUNG ¢

—‘_‘_'_l‘ﬂl:_:_' —'—KO—Q'_
A. Review the layout drawings and package T N\

lists that have accompanied this job.

B. Before proceeding, confirm that backing of wall and ceiling
is adequate to support secure mounting of toilet compartment
units.

C. Confirm correct location and condition of threaded ceiling rods.
These should project 2" to 2-1/2" below finished ceiling.

D. Establish and mark pilaster and panel center lines in relation to
ceiling rod locations and drawings.

E. Mark wall bracket holes using brackets as templates.

STEP 2 FIGURE 2
WALL BRACKETS
CI’_ PILASTER \
CENTER LINE
S e ol = _'_"_CF_-—
1 \H \
A. Drill holes for wall brackets and floor fastenings | WALL PILASTER SR ! !
of appropriate size for particular fastening devices e CENTERLING CENTER LINE _W\|
supplied. Typically 1/4" bits can be used throughout. c_h+ ——

A wide variety of bit sizes are recommended as site
conditions and hardware combinations vary.

B. Insert anchoring devices in walls and secure
wall brackets.

e Tt
o
1ol
I

C. Pilaster at wall should be prepared for wall
and ceiling fastening as required by compartment
layout.

STEP 3 FIGURE 3
POSITION PANEL

A. Place panel on a support, 12" above
the floor. Y

B. Setit into wall brackets,but do not fasten
panel at this time.

12" SUPPORT

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com
Page 18



-®
Partitions

Ceiling Anchored

STEP 4
PILASTER PREPARATION

A. Align U-brackets in position on rear of
pilasters.Refer to layout drawings.

B. Fasten U-brackets to pilaster with sheet
metal screws.

C. Pilasters at wall do not require U-brackets.

oo FIGURE 4

7;L_

U-BRACKETS FRONT
AT REAR OF

PILASTER

—5b-
Y

STEP 5
INSTALL PILASTERS

NOTE:STRUCTURAL STEEL BY OTHERS

A. Place thread support nuts and
mounting washers over threaded rods to
support pilaster mounting bar.

B. Position pilaster and mounting bar on threaded
rods and attach lightly with square flat washer,
lockwasher, and locking nut.

3/8"-16 x 6" STUD
3/8" NUT
13/16" DIAMETER LOCK WASHER

TO 28" A4——3/8" THICK MOUNTING BAR

4 STAINLESS STEEL
SATIN FINISH SHOE

coxvy B VANDAL RESISTANT
./ SHOE SCREW

CEILING BOLT MOUNTING DETAIL

STEP 6
SECURING PILASTERS TO PANELS

A. Level each pilaster by adjusting both support nuts
to desired position.

B. Plumb each pilaster and fasten the pilaster to panel
using through bolts or sheet metal screws.

C. Establish door openings by setting pilaster mounting
bar to desired position on stud.

D. Tighten locking nuts on top of pilaster mounting bar.

E. Slide stainless steel shoe up to ceiling,firmly
engaging shoe clips.

F. Fasten panel to wall brackets using through bolts.

G.Remove panel support device.

FIGURE 6

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com

Page 19



-®
Partitions Ceiling Anchored

CEILING HUNG .
Panel Hardware Kit (P/N 8515020) Includes:
PANEL TO PILASTER/WALL o Sy
TWO EAR ASSEMBLY Panel Hardware Kit (P/N 8265021) Includes:
PLASTIC LAMINATE STAINLESS STEEL
Pilasters must be both plumb and level. PART ID. DESCRIPTION QTY
Refer to steps 4 & 6.
1 J Two Ear Bracket (2)
A. Fasten panel to 2-ear bracket at wall with
through bolts. 2 m’ "U" Bracket )
B. Plumb pilaster and fasten pilaster to panel 3 h Vandal Resistant Step Bolts 1" Long )
using through bolts or sheet metal screws
to "U" brackets. 4 @E Vandal Resistant Barrel Nut 4)
5 — Vandal Resistant 2 1/2" S.M.S 4
6 [ — Plastic Shields e
8 [ Vandal Resistant 5/8" S.M.S (12)

6\%1,4 5" APPROX.] ¥
3¢

5 ; ﬁi@\.
MAPPROX ) : y@*‘
: /
o
a4
- §
2 A
FIGURE A
# oPTiIONAL —
FIGURE A Two Vandal resistant 5/8" Screws
e May be Used (But Not Recommended)
/7 AN To Fasten brackets To Panel.
e i
o~ -
: ~
\ e ey -
R % e /, 6\7
~~
/ &
S APPROX ) , S
V¢
FIGURE B \ 3 «
N ,;‘ } a3
L] e
| e : . .
(Y} 2 : ER NOTE: ooz o
> L/AST Use Only Two Vandal resistant
~ P, 5/8" Screws
SUAPPROX) — 17 To Diagonally Fasten U-bracket To Pilaster.

FIGURE B

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com
Page 20



-®
Partitions Ceiling Anchored

CEILING HUNG
PANEL TO PILASTER/WALL Panel Hardware Kit (P/N 8515010) Includes:
ONE EAR ASSEMBLY CHROME PLATED ZAMAC

PLASTIC LAMINATE Panel Hardware Kit (P/N 8265011) Includes:

STAINLESS STEEL
Pilasters must be both plumb and level.
Refer to steps 4 & 6. PART ID. DESCRIPTION QTty

A. Fasten panel to 1-ear bracket at wall with One Ear Bracket @

through bolts.

"U" Bracket (2)

B. Plumb pilaster and fasten pilaster to panel
using through bolts or sheet metal screws 3
to "U" brackets.

Vandal Resistant Step Bolts 1" Long (4)

Vandal Resistant Barrel Nut (4)

Vandal Resistant 2 1/2" S M.S (4

Vandal Resistant 5/8" S.M.S (12)

L
i
Ger—
§=
—
6 == | Plastic Shields o
S WY a2 5'(APPROX) 7 =
3% /

(APPROX )
o™
M. 4
-
7. A
2
FIGURE A
FIGURE A % cPTiIONAL T
/6 ~ Two Vandal Resistant 5/8" Screws
_/ 6. 1 )4‘ May Be Used (But Not Recommended)
\ %5 To Fasten Brackets To Panel.
.3 9y e T e
N o S /. ~
: AN
/ A
: \
5'APPROX ) _/ 4 ‘\
/ -4 :
; = B
l > S S ]
FIGURE B : 4
| 2 N \ \ '
- g k /
2, q *, #
5 APPROM ) Fege L/ASTE OTE. ~ - g

Use Only Vandal Resistant 5/8" Screws
12* To Diagonally Fasten U-bracket To Pilaster.

FIGURE B

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com
Page 21



-®
Partitions Ceiling Anchored

CEILING HUNG Pilaster/Wall Hardware Kit (P/N 8515210) Includes:
PILASTER/WWALL CHROME PLATED ZAMAC
ASSEMBLY FilasterA/all Hardware Kit (P/N 8265211) Includes:
PLASTIC LAMINATE STAINLESS STEEL
PART ID. DESCRIPTION QrTy
Pilasters must be both plumb and level. 1 I I One Ear Wall Bracket (2
A. Fasten pilaster to wall bracket using through 5 m Vandal Resistant Step Bolts 1 1/4" Long @
bolts or sheet metal screws.
B. Establish door openings by adjusting pilaster 3 ég Vandal Resistant Barrel Nut @
mounting bar to desired positions & tighten nuts. ]
Refer to step 6. 4 Boeesapeassosmne- Vandal Resistant 2 1/2" S.M.S (4)
5 [ —_— Plastic Shields &)
[ [ Vandal Resistant 5/8" S.M.S (4)

l/

1
5 P

4
2w AN
DRILL 1/4" DI A. HOLE -1

g, ., il
FIGURE
SEE SHOP DRAVWINGS FOR * OPTIONAL
RILASTERREALL SPAC'NGW ~ P Two #3914120 Theft resistant C/P #14 X 5/8"
|LAS May be Used (But Not Recommended)
TER To Fasten brackets To Panel.
W
g
\.
\.
FIGURE A \
T 5 ;
. S \
/ Bt 5 %* :
\ 2,@}\\ : !
N\ S 1
DRILL 14" DA HOLE ] /
\ ./
5 : 7
\T ‘ P
e e

fe— . —

NOTE:
Replace #3910450 Theft Resistant C/P #14 x 2 1/2"
With #3914120 Theft resistant C/P #14 X 5/8"

To Fasten Pilaster To Panel.

FIGURE B

12"
A.F.F.

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com
Page 22



-®
Partitions

Ceiling Anchored

CEILING HUNG
PILASTER/PANEL ALCOVE
ASSEMBLY

PLASTIC LAMINATE

Note:

Replace P/N#8515010 with P/N#8515020
for two ear locations.

Combine with Pilaster to Wall kit #8515210

1 1/4" open bracket

| =

5
3@ Oy
S
~L
| A

| SEE #8512003 > W

KIT FOR DOOR 1

APPLICATION /@‘I

5 7

SEE SHOP w
DRAWINGS FOR { &
PILASTER TO
WALL SPACING FLATSTRIKE - J|
& KEEPER /\ :
2 #8263110
),4 | FIGURE A

~—

5
a5

Panel Hardware Kit (P/N 8515010) Includes:

CHROME PLATED ZAMAC

Panel Hardware Kit (P/N 826501 1) Includes:

STAINLESS STEEL

NOTE:
Replace Vandal Resistant 2 1/2" screws
With Vandal resistant 5-8"screws

To Fasten Pilaster To Panel.

PART ID. DESCRIPTION QTY
1 l l One Ear Bracket (2
2 m " Bracket @
3 QEE_- Vandal Resistant C/P Step Bolts 1" Long 4)
4 @ Vfandal Resistant C/P Barrel Nut (4)
L2} T Vandal Resistant 2 1/2" S M.S (4)
A —— @
7 [ VYandal Resistant 5/8" S.M.S (12)
1" open bracket
r
ﬁ a4
T 4 20
~ . 5\
ST
e H N
/ PILASTER *,
. . SIDE \
~ .
s | i
- /
\ /
AN L
2\\4 A3
o

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com

Page 23



-®
Partitions

Floor Anchored and Ceiling Anchored

STEP1

LAYOUT

FLOOR ANCHORED/CEILING ANCHORED
NOTE: FLOOR MUST BE CONCRETE.

A. Review the layout drawings and package
lists that have accompanied this job.

B. Before proceeding, confirm that backing of wall and ceiling
support is adequate to secure mounting of toilet compartment
units.

C. Establish and mark pilaster center line from back wall.

D. Establish and mark panel center lines for wall brackets.

FIGURE 1

STEP 2

wall brackets.

E. Establish pilaster floor and ceiling fastener locations from side !
wall according to shop drawings. (Note fasteners are located ’/
1" from edge of pilaster.) e
F. Mark wall bracket holes using brackets as templates.
FIGURE 2
WALL BRACKETS AND FLOOR BRACKETS PILASTER cenne
(E \ FASTENER
LOCATIONS
o VPSP :‘Q‘Z_-—GA\I\—-—
| e \d
A. Drill holes for wall brackets and floor fastenings of WALL PILASTER PANEL .
appropriate size for particular fastening devices supplied. |y CENTERLINE CENTER LINE | |
Typically, 174" bits can be used throughout. A wide c-+, — i i
variety of bit sizes are recommended as site conditions ] T- ET=
and hardware combinations vary. | |
B. Insert anchoring devices in walls and secure % }
48"
I L] L o]
C. Install wedge anchor with shoe clip, washer | | /|
and nut into concrete floor and tighten. L S FLOOR
e . o~ —FASTENER
1 -y 4‘_/ Loc;xii):ls’;
PILASTER /_
CENTER LINE
FIGURE 3

STEP 3
POSITION PANEL

A. Place panel on a support, 12" above
the floor.

B. Set it into wall brackets,but do not fasten
panel at this time.

12" SBUPFORT

-
-
-
-

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com



-®
Partitions Floor Anchored and Ceiling Anchored

STEP 4 e FIGURE 4
PILASTER PREPARATION - !
U-BRACKETS >T\ FRONT
A. Align U-brackets in position on rear of AT REAR OF

pilasters.Refer to layout drawings. PILASTER

&—rO

L

B. Fasten U-brackets to pilaster with sheet
metal screws.

_ﬁ}_?_\_

A
%
< R

C. Pilasters at wall do not require U-brackets,but
should be prepared for wall and floor fastening
as required by compartment layout.

| —
\
\

@ STRUCTURAL STEEL BY OTHERS m
INSTALL PILASTERS

3/8"-16 x 87 STUD
3/8" NUT

NOTE:STRUCTURAL STEEL BY OTHERS /1% DIRVETER L0Ck: WASHER

A. Thread support nut and e
mounting washers over threaded
rods to support pilaster mounting bar.

B. At the floor position pilaster and B ——3/8" THICK MOUNTING BAR

mounting bar on wedge anchors

and attach lightly with square flat
washer lockwasher and locking nut.

304 STAINLESS STEEL
[=——#4 SATIN FINISH SHOE

|~——5/8" SCREW

PLASTIC PILASTERS

STEP 6 FIGURE 6
SECURING PILASTERS TO PANELS

A. Level each pilaster by adjusting both support nuts
to desired position.

B. Plumb each pilaster and fasten the pilaster to panel
using through bolts or sheet metal screws.

C. Establish door openings by setting pilaster mounting
bar to desired position on stud.

D. Tighten locking nuts on top of pilaster mounting bar.

E. Slide stainless steel shoe up to ceiling and down
to floor level and screw into place.

F. Fasten panel to wall brackets using through bolts.

G.Remove panel support device.

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com
Page 25



-®
Partitions

Floor Anchored and Ceiling Anchored

FLOOR AND CEILING ANCHORED

PANEL TO PILASTER/WALL
TWO EAR ASSEMBLY
PLASTIC LAMINATE

Pilasters must be both plumb and level.
Refer to steps 4 & 6.

A. Plumb panel and fasten panel to 2 ear
bracket at wall with through bolts.

B. Plumb pilaster and fasten pilaster to panel
using through bolts or sheet metal screws
to "U" brackets.

6 y a4 5" APPROX )
. 5
3¢ E

DIMENSION vl
TOSUT
INSTALLATION

e DIMENSION
’ N TO SUIT

? INSTALLATION
f \%’5\-/
kg Y

{—\

5"t APPROX )

Panel Hardware Kit (P/N 8515020) Includes:
CHROME PLATED ZAMAC

Panel Hardware Kit (P/N 8265021) Includes:
STAINLESS STEEL

PART ID. DESCRIPTION QTy

1 l Two Ear Bracket (2)
2 m "U" Bracket 2
3 QE_' Vandal Resistant Step Bolts 1" Long )
4 @ Vandal Resistant Barrel Nut @)
5| fro— Vandal Resistant 2 1/2" S.M.8 @)

Plastic Shields )

Vandal Resistant 5/8" S.M.S @)

&]-
oiveEnsion—"1
TO SUIT
INSTALLATION
- - '
FIGURE A
% OPTIONAL
Two #3914120 Theft resistant C/P #14 X 5/8"
May be Used (But Not Recommended)
To Fasten brackets To Panel.
¢ 7
Y
/‘/ >
DIMENSIOMN &
+ 7
TOSUT
INSTALLATION | R
: -~
§
FIGURE B : 365/ '
N % 5’%’%
| P N
gl | S
, 3 2 . .
S TAPPROX ) — e ot NOTE:

Use Only Two #3914120
Theft resistant C/P #14 X 5/8"

~/ To Diagonally Fasten U-bracket To Pilaster.
\/ﬁﬁﬁ FIGURE B

ol

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com



-®
Partitions Floor Anchored and Ceiling Anchored

FLOOR AND CEILING ANCHORED Pilaster/Wall Hardware Kit (P/N 8515210 Includes:
PILASTER/WALL CHROME PLATED ZAMAC
ASSEMBLY Pilaster/Wall Hardware Kit (P/N 8265211) Includes:
1 ReTi | STAINLESS STEEL
PLASTIC LAMINATE
Pilasters must be both plumb and level. PART ID. DESCRIPTION Qry
One Ear Wall Brack 2
A. Fasten pilaster to wall bracket using through ! u, ne EarWall Bracket 2
Bolter shest melalscrws 2 GEEI—- Vandal Resistant Step Bolts 1 1/4" Long 2

B. Establish door openings by adjusting pilaster ]
mounting bar to desired positions & tighten nuts. 3 = Vandal Resistant Barrel Nut @
Refer to step 6.

4 e Vandal Resistant 2 1/2" S.M.S [CM]
5 [ —) Plastic Shields @
6 - Vandal Resistant 5/8" SM.S Y]

/

5
1
5 3

oy

SEE SHOP DRAWINGS FOR
PILASTER TO WALL SPACING “[ 3

WALL /'/. \.\,
/ L
: \
FIGURE A [ i
" e e, : |
[ 2 1\3 l /
\ \@*"4 \ L '
L Ay \ /
\_‘_‘/' ,\ ./
/ ~ - - &
NOTE: -

Replace Vandal Resistant 2 1/2"
With Vandal Resistant 5/8"

/s‘ To Fasten Pilaster To Panel.
d FIGURE B

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com
Page 27



-®
Partitions

Floor Anchored and Ceiling Anchored

FLOOR AND CEILING ANCHORED

PILASTER/PANEL ALCOVE
ASSEMBLY
PLASTIC LAMINATE

Replace #8517310 with #8517320 for two

ear bracket kit.

SEE SHOP
CRAWINGS %{A ‘
PILASTER TO

I
|
\

WALL SPACING |

5 SEE #6512000 OR
5 i )3 #3512010 KIT FOR
4| DOOR APPLICATION
=~

2% 4 “

.

Ly //

S\

7.

Alcove Hardware Kit (P/N 8517310) Includes:

CHROME PLATED ZAMAC

Alcove Hardware Kit (P/N 8267311) Includes:

STAINLESS STEEL

PART ID. DESCRIPTION QTY
1 l 1 1/4" One Ear Wall Bracket 2)
2 ﬂEE_' Vandal Resistant Step Bolts1 14" Long (2)
3 Qﬁ Vandal Resistant Barrel Nut 4)
4 fommomenes- | Vandal Resistant 2 1/2" S.M.S (10)
5 B Plastic Shields (10)
6 Vandal Resistant 5/8" S M.S (14)
e (Balance For Fasting Pilaster /Panel)
7 h Alcove Clip (2)
8 l ! 1" One Ear Wall Bracket (2)
9 B—r— Vandal Resistant 1" S.M.S (4)
10 @3- Vandal Resistant C/P Step Bolts 1" Long (2)
11 I | Bracket Headrail Satin "F" Zamac (NOT NEEDED) ()]
e T
~
/ T ATTACHTO
; PILASTER )
4 h\ﬂ' 23 /
DIMENSION -/ \5 "
TO SUIT 1({ B
INSTALLATION %
! ! 2
\ ATTACHTO [/
N /
N i
S~ g
FIGURE A o el
DIMENSION FIGURE A
TOSUIT _—
INSTALLATION
S 2.\\4 &3
5
1 B

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com

Page 28



-®
Partitions Floor Anchored and Ceiling Anchored

FLOOR AND CEILING ANCHORED

Alternate Alcove Hardware Kit {P/N 8517030) Includes:
PILASTER/PANEL/PILASTER INLINE CHROME PLATED ZAMAC
ASSEMBLY PART ID. DESCRIPTION Qry
PLASTIC LAMINATE q @ Aloove Clips (12
2 | &z | vandal Resistant Step Boits 1" Long (12}
3 §= | vandal Resistant Barrel Nut (12
4 [ VandalReslgtant 58" S.M.S (24)

I
I
I
I
! Sy §
| TSy
| \tt\
I S
| 1
I I
| |
| | o3 \’
SEE SHOP ! ! 2'?% \
DRAWINGS %k SEE#85120030R |
PILASTER TO I #8512010KITFOR |
WALL SPACING | DOOR APPLICATICN :
I I
I I '
[ 3 ) '
| Q#" 33 23 URE
| I o FIGURE A
I I RECOMMENDED
I
I I T
L i N
ol VN Ags A ' '
’/’ W\ | :‘4‘3‘ %’, / 4 \
RN P L 2% ' ‘
{Igh./FIGUREA ‘/ MIE'\ /;\
I l
2 * B 1 ¢
L4 " I
~ d
%ﬁ, OPTIONAL

* Two Vandal Resistant 5/8"SMS
May be Used (But Not Recommended)
To Fasten brackets To Panel. Offset brackets
for screw clearance.

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com
Page 29



-®
Global
Partitions Product Information

CARE AND MAINTENANCE OF
TOILET PARTITIONS

In order to provide toilet partitions with the
care and maintenance, the following instructions
must be followed.

A. All surfaces must be kept clean with water and
mild soap solution only.

B. In high humidity areas, the rooms must be
properly ventilated.

C. “Hosing down” or wet washing of these units may
cause water absorption and damage

D. For maximum protection, periodic applicaton of
any standard furniture wax will be beneficial.

E. In order to provide toilet partitions with the
proper care and maintenance, the above instructions
must be followed.

WARNING

Under no circumstances should the components be
subjected to:
* Abrasive powders or pads

*Water closet cleaners

*Ceramic tile cleaners
*Solutions containing more than 1% by volume of

ammonia
*Solutions containing acids or lye
*Solutions containing enzymes

Attention to work progress during new construction
or renovation is important.
Other trades and cleaning services may use agents
for ceramics and tiles that will damage these
components.

900 Clary Connector, Eastanollee, GA 30538 Tel: (706) 827-2700/ Fax (706) 827-2710 www.asi-globalpartitions.com

Page 30





